
ETA 227 – Overpayment Detection and Recovery Activities (FPUC) 
 
TABLE: af227 
 
Errors:  
c1 through c421 cannot be NULL 
c1 through c421 >= 0 
c1 through c421 cannot be negative 
If c1 >0 then c3 must be >0 
If c2 >0 then c4 must be >0 
If c27 >0 then c29 must be >0 
If c28 >0 then c30 must be >0 
If c31 >0 then c33 must be >0 
If c32 >0 then c34 must be >0 
If c234 >0 then c235 must be >0 
If c236 >0 then c237 must be >0 
If c238 >0 then c241 must be >0 
If c239 >0 then c242 must be >0 
If c240 >0 then c243 must be >0 
If c250 >0 then c251 must be >0 
If c269 >0 then c270 must be >0 
If c330 >0 then c334 must be >0 
If c331 >0 then c335 must be >0 
If c332 >0 then c336 must be >0 
If c333 >0 then c337 must be >0 
If c338 >0 then c342 must be >0 
If c339 >0 then c343 must be >0 
If c340 >0 then c344 must be >0 
If c341 >0 then c345 must be >0 
If c346 >0 then c350 must be >0 
If c347 >0 then c351 must be >0 
If c348 >0 then c352 must be >0 
If c349 >0 then c353 must be >0 
If c354 >0 then c358 must be >0 
If c355 >0 then c359 must be >0 
If c356 >0 then c360 must be >0 
If c357 >0 then c361 must be >0 
c31 = c27+c1 
c32 = c28+c2  
c33 = c29+c3 
c34 = c30+c4 
c354 = c346+c330 
c355 = c347+c331 
c356 = c348+c332 
c357 = c349+c333 
c358 = c350+c334 



c359 = c351+c335 
c360 = c352+c336 
c361 = c353+c337 
c35 = c71 prior rptdate 
c36 = c72 prior rptdate 
c37 = c73 prior rptdate 
c38 = c74 prior rptdate 
c276=c305 prior rptdate 
c277=c306 prior rptdate 
c362=c406 prior rptdate 
c363=c407 prior rptdate 
c364=c408 prior rptdate 
c365=c409 prior rptdate 
c366=c410 prior rptdate 
c367=c411 prior rptdate 
c368=c412 prior rptdate 
c369=c413 prior rptdate 
c71 = c3+c35-c206-c55+c59-c67 
c72 = c4+c36-c207-c56+c60-c68 
c73=c29+c37-c208-c49-c57+c61-c69 
c74=c30+c38-c209-c50-c58+c62-c70 
c305= c235 + c276 - c278 - c297+c299-c301 
c306= c251+c277 - c279- c296-c298+c300-c302 
c406= c334 + c362 – c370 – c382+c390-c398 
c407= c335 + c363 – c371 – c383+c391-c399 
c408= c336 + c364 – c372 – c384+c392-c400 
c409= c337 + c365 – c373 – c385+c393-c401 
c410= c350+c366 – c374- c378-c386+c394-c402 
c411= c351+c367 – c375- c379-c387+c395-c403 
c412= c352+c368 – c376- c380-c388+c396-c404 
c413= c353+c369 – c377- c381-c389+c397-c405 
 
 
 


